Extra practice—Adding decimals

Choose the right level for you — Bronze (mild), Silver (Spicy) or Gold (Hot).




Extra practice— Subtracting decimals

Choose the right level for you — Bronze (mild), Silver (Spicy) or Gold (Hot).




Challenge

A Talisman Square has consecutive numbers. This one has the numbers 0.1 to 1.6. The dif ference
between any two neighbouring numbers is always more than one unit, so here it is always
greater than one tenth or 0.1
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1. Find the difference between each pair of L
numbers along the top row of this square.
So between 0.1 and 05, then between 05 [
and 0.3, then between 0.3 and 0.7, and s0 on —~
2. Repeat this for the second row, and the 05-0.1=-04
third and fourth rows. e 05-03=
3. Now find the difference between each
pair of numbers in the first column. So &
between 0.1 and 0.9, then between 0.9 -
and 0.2 and then between 0.2 and 1.
4. Repeat this for the second, third and
fourth columns.
What is the greatest difference? i
What is the smallest dif ference? —
Are dll the differences greater than 0.17
~
5. Draw a 3 x 3 grid.
6. Wsetherumbers01.02.03..up1009. |
7 Can you arrange these on the grid to —~
create a Talisman Square where all the
neighbouring numbers have a difference e
greater than 0.17
ri-\.
What do you notice?
Do you think this is possible? Fos
Can you explain your answer?
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Create a new 4 x 4 grid, which is a Talisman Square using consecutive numbers. Remember
\_that all the dif ferences between neighbouring numbers must be greater than 0.1. o




